Calculus 12 Chapter 10 Notes: Area

Section 9.1 — Practice Problems

1. Find the most general antiderivative of the given function on the interval (—co, o)

a) f(x)=2x+1 b) f(x) =4x3-11
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2. Find the antiderivative of f on (0, )
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3. Find the antiderivative of f on (—,0)
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4. Find the antiderivative of f on (—oco, c0)

a) f(x) =sin2x +2cosx
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b) f(x) = —3cos5x +8sinx
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d) f(x) =—4cos(x +2)
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5. Find the most general antiderivative of f on (—o0, o)

a) fx)=e*+e™*
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6. Find the antiderivative of f on (0, 1)
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7. Find the antiderivative of f on (—oo, o) hoin rde W

a) f(x)=xe* b) f(x) = sin®xcosx
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